

①

$$\begin{aligned} \sqrt{\lambda} & \leq \sqrt{\lambda} \sqrt{\lambda} \\ \sqrt{\lambda} & = \left(\frac{1}{\sqrt{2}} \sqrt{\lambda} + \frac{1}{\sqrt{2}} \sqrt{\lambda} \right) \left(\frac{1}{\sqrt{2}} \sqrt{\lambda} + \frac{1}{\sqrt{2}} \sqrt{\lambda} \right) \end{aligned}$$

②

$$\begin{aligned} \text{الف) } & \sqrt{\epsilon} (\epsilon \sqrt{V})^{-1} \sqrt{1 \pm \sqrt{V}} \\ & \rightarrow \sqrt{\frac{1}{\epsilon \sqrt{V}}} \times \sqrt{(1 \pm \sqrt{V})} \end{aligned}$$

$$2) \left(\frac{\sqrt{2\sqrt{3}}}{\sqrt{16+1}} \right) \left(\sqrt{2\sqrt{3}-2\sqrt{2\sqrt{3}}} \right) \rightarrow \left(\frac{1}{\sqrt{2}} \right) \left(\sqrt{2\sqrt{3}-2\sqrt{2\sqrt{3}}} \right) = \sqrt{1-\frac{1}{2}}$$

③

الف)
$$\frac{1}{\sqrt{1+x^2}} \times \frac{1}{\sqrt{1+x^2}} = \frac{1}{1+x^2}$$

[illegible]

$$\begin{array}{c} \begin{array}{c|c} \begin{array}{c} \sqrt{2} \\ 1 \end{array} & \begin{array}{c} \sqrt{2} \\ 1 \end{array} \\ \hline \end{array} & \begin{array}{c} \begin{array}{c|c} \begin{array}{c} \sqrt{2} \\ 1 \end{array} & \begin{array}{c} \sqrt{2} \\ 1 \end{array} \\ \hline \end{array} \\ \hline \end{array}$$

$$\frac{\sqrt{2} \left(\sqrt{2+4-9} + \sqrt{2+4-9} \right)}{2}$$

④

$$\frac{\sqrt{1+\sqrt{x}} + \sqrt{x-1}}{\sqrt{1+\sqrt{x}} - \sqrt{x-1}} = A$$

$$A = \sqrt{r(r+1)} \rightarrow \sqrt{r(r+1)} + \sqrt{r(r+1)}$$

$$\sqrt{1-x^2} = \sqrt{1-x^2} \rightarrow \sqrt{1-x^2} = \sqrt{1-x^2}$$

$$\sqrt{1-x^2} = \sqrt{1-x^2}$$

③

$$\frac{1}{\sqrt{1-x^2}} = \frac{1}{\sqrt{1-x^2}} \rightarrow \frac{1}{\sqrt{1-x^2}} = \frac{1}{\sqrt{1-x^2}}$$

$$\frac{1}{\sqrt{1-x^2}} = \frac{1}{\sqrt{1-x^2}}$$

$$\frac{1}{\sqrt{1-x^2}} = \frac{1}{\sqrt{1-x^2}} \rightarrow \frac{1}{\sqrt{1-x^2}} = \frac{1}{\sqrt{1-x^2}}$$

$$\frac{1}{\sqrt{1-x^2}} = \frac{1}{\sqrt{1-x^2}}$$

④

$$(a^2 + b^2 - 2ab)(a^2 + b^2 + 2ab) = (a^2 + b^2)^2 - (2ab)^2$$

$$\left[\frac{(a^2 + b^2 - 2ab)(a^2 + b^2 + 2ab)}{(a^2 + b^2)^2} \right]^2 \rightarrow \left[\frac{(a^2 + b^2 - 2ab)(a^2 + b^2 + 2ab)}{(a^2 + b^2)^2} \right]^2$$

$$\left(\frac{(a^2 + b^2 - 2ab)(a^2 + b^2 + 2ab)}{(a^2 + b^2)^2} \right)^2$$

$$\sqrt{1-x^2} = \sqrt{1-x^2}$$

$$(1-x^2) = 1-x^2 \rightarrow 1-x^2 = 1-x^2$$

⑤

$$\frac{1}{\sqrt{1-x^2}} = \frac{1}{\sqrt{1-x^2}} \rightarrow \frac{1}{\sqrt{1-x^2}} = \frac{1}{\sqrt{1-x^2}}$$

$$\left(\frac{1}{\sqrt{1-x^2}} \right)^2 = \frac{1}{1-x^2}$$

$$\left[\frac{1}{\sqrt{1-x^2}} \right]^2 = \frac{1}{1-x^2} \rightarrow \frac{1}{1-x^2} = \frac{1}{1-x^2}$$

$$\frac{1}{1-x^2} = \frac{1}{1-x^2} \rightarrow \frac{1}{1-x^2} = \frac{1}{1-x^2}$$

7

$$A = \omega \sqrt{t^2 \sqrt{19}} \times \left(\frac{1}{t} \right)^{\frac{1}{2}}$$

$$\omega \sqrt{\frac{9}{t} \times \frac{t}{t}} \rightarrow \omega \sqrt{\frac{9}{t^2}} = \frac{3}{t} \omega$$

$$\left(\frac{3}{t} \right)^{\frac{1}{2}} \rightarrow \left(\frac{1}{t} \right)^{\frac{1}{2}} \rightarrow \sqrt{\frac{1}{t}} = \frac{1}{\sqrt{t}}$$

9

$$\sqrt{a} = \frac{1}{\sqrt{a}} \times \sqrt{a} \rightarrow \sqrt{\frac{a}{a}} = \sqrt{1} = 1$$

$$\frac{1}{\sqrt{a}} = \frac{1}{\sqrt{a}} \times \frac{\sqrt{a}}{\sqrt{a}} = \frac{\sqrt{a}}{a}$$

$$\frac{1}{\sqrt{a}} = \frac{\sqrt{a}}{a}$$

$$\sqrt{a + a} + \sqrt{a - a} = \sqrt{2a} + \sqrt{0} = \sqrt{2a}$$

10

$$\left(\sqrt{a + a} - \sqrt{a - a} \right) \left(\sqrt{a + a} + \sqrt{a - a} \right) = \frac{a + a - (a - a)}{a} = \frac{2a}{a} = 2$$

$$\frac{a + a - (a - a)}{a} = \frac{2a}{a} = 2$$